Linear Algebra
Quiz 1

Name:

You have 10 minutes to complete this quiz. If you have a question raise your hand
and remain seated. In order to receive full credit your answer must be complete,
legible and correct. Show your work, and give adequate explanations.

Consider the following system of linear equations:

207 + 4dxe + 23 + x5 = 2
xr, + 21’2 + x5 = 3
31 + 6xs + x4 + x5 = 4

(1) Write down the coefficient matrix. Then write down the augmented matrix.

2 4101 2 41 0 1|2
coef.=11 2 0 0 1|, aung=1|12 0 0 1|3
36 01 1 36 01 1|4

(2) Find the reduced row echelon form of the augmented matrix.

2410 12 12 00 1|3 1200 1| 3
120013 —-1]2416012|—=1]001°0 —1|—-4
36 01 14 36 01 1|4 0001 -2|-=5

(3) Which variables are free variables and which are basic variables?
T and x5 are free variables, x1, z3 and x4 are basic variables.

(4) Write the parametric description of the solution set.

ry = 3 — 21’2 — XI5
Ty = Iree

Tr3 = —4 + T

Ty = -5+ 2:175

rs = Iree



